A # H TRE205%E11H208 TEREAARTEIBREEE

(Bifz:F)
= . ¥ 5 ftE %E+LEE
; I . .
e b & R | @) | P
S 0EHATE1—-55
1| g as, [OTEATE-55AH 20,150,000 19,300,000
TR EKEMBARBEEINIE
S 0EHATE1—65
2 _ ﬁ*%)\*L 0MBEATE1I—-65606 25,750,000 24,650,000
IR FEKERRARBEELIE
S 0EHLATE2—-35
3 | _ ’ﬁ“%)\*L 0HENTHE2—-3546 19,200,000 [ 18,400,000
IR FEKERRGREEINIE
EE1
A i B TRf20FE11 8208 TEHRRAMARTERREE
I F 4 W0EHATE1—58 20MEATE1 5856 FKEFRARBEINILSE
¥ 7€ 4% 20,150,000 (Fith=)
(Bfi:M)
AfLEKS E1[E] EFLE B &
1 |[FEREZRGR 19,580,000
2 SR ITERGER 19,600,000
3 |((BMHES 19,500,000
4 |(BEYKRFEX 19,500,000
5 [\ AER 19,450,000
6 | IFE 19,300,000 %L
T |BHREMGR 19,700,000




At B TR20FE11 8208 TERRMATERREE
I E 4 W0EMATEI—68 20MEATEI—6856 FKEFRARBELISE
¥ RE (A& 25,700,000 (Fiik=)
(Bifz:F)
AfLEEA F1E EiLE s &=
1 |#RER R 24,900,000
2 SRR ERGR) 24,900,000
3 |(BMHES 24,800,000
4 |(BEYKRFEX 25,000,000
5 [\ AER 24,650,000 AL
6 |(BR)iIF TS Bl EE®HE
7 |BREMGR 24,950,000
B3
A # B ERE205E11H208 TETERARTEREERE
I %% WEHATE2—3E 20MELATE2—33E46t BFAKEMBEGEEIINITE
¥ 7€ 4% 19,200,000 (Fiik=)
(Bfi:M)
ALEKRA £1E EHLE g =
1 |(B)HEREER 18,800,000
2 |BEEREER 18,500,000
3 |(A)EEER 18,750,000
4 |HEBEEERGR 18,850,000
5 |DIEOERGER 18,600,000
6 |MBEEERT (KR 18,400,000 EHL




